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Il Semester B.Com. Examination, September/October 2021
(CBCS) (F+R) (2014 — 15 and Onwards)
COMMERCE
Paper - 2.6 : Quantitative Analysis for Business Decisions - |
Time : 3 Hours Max. Marks : 70

Instruction : Answer should be either in English or Kannada.
SECTION - A

Answer any five sub-questions from this Section. Each <1 ion carries
two marks. S

1. a) Define Statistics.
b) List any four methods of studying variation.
c) If X=12, Z = 13 find median.
d) Write the formula for range.
e) What is base year ?
f) Write any 2 objectives of tabulation.
g) How do you calculate ‘Mode’ when itis ill-defined ?
SECTION - B

Answer any three of the following. Each question carries six marks. (3x6=18)

2. From the following information prepare a frequgncy table, taking class interval
of 10 — 20, 20 — 30 efc. |

48 | 30 31 18 | 25 27 19 20 19 | 12

16 | 28 50 | 43 | 54 36 28 18 16 | 18
42 | 46 38 | 34 | 51 42 28 32 | 36 | 41
34 | 36 37 18 19 12 15 41 46 | 25

19 | 24 35 | 38 39 42 51 44 13 | 18
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3. Compute mean wages of workers from the following data :

Wages (Rs.): | 50100 100 - 150 | 150 — 200 | 200 — 250 ] 250 — 300
No. of workers : 8 12 14 9 7
4. Calculate the standard deviation from the following data :
Wages (inRs.): | 100 | 200 | 300 | 400 | 500 | 600
No. of workers : 8 12 20 10 b 3
5. Calculate Mean deviation from Median from the following data :
Wages (Rs.) No. of Workers
Less than — 10 5
Less than — 20 13
Less than — 30 20
Less than — 40 32
Less than — 50 60
Less than — 60i - 80
Less than — 70 90
Less than — 80 100
6. a) Find X if CV = 40% SD = 12.
b) Find co-efficient of Mean deviation, if X =120 and M.D. = 12.
SECTION -C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Draw a histogram from the following data to find mode and calculate mode :

ClL:| o=-10

10-20 | 20-30 | 30-40 | 40
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8. Compute Fisher’s ideal index from the following data and show how it satisfies
TRT and FRT.

2015 2016
Commodities| Price Quantity Price Quantity
M 8 80 10 110
N 10 90 12 108 -
@) 16 256 20 340
P 20 420 24 456
Q 25 550 32 704

9. Compute Karl Pearson’s skewness from the following data :

Weekly

Wages : 40-60|60-80|80—-100(100— 120|120 - 140|140 — 160
No. of

Workers : 6 10 18 30 15 12

}, ’
10. From the following data, calculate quartile and its co-efficient :

X: |10-20 20-30|30-40|40-50|50-60|60-70|70-80
12 25 55 120 60 30 13

11. Following are the marks obtained by two students' Suma and Sudha in ten tests
of 100 marks each:

Test : 112|134 |5|6|7!|181|9]10
Marks Suma: | 48 |72 (39|46 |80|62| 30 | 42 | 65 | 31
obtained by '

Sudha:| 40 |56 |44 | 35|80 |72| 48 | 65 | 75 | 49

Find who is better scores and it consistency is the criterion for awarding prize
who should get the prize ?
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B3 QYPNOOT FPAT CSRRYTIVTTR 2T LT~ dﬁ@ﬁ YVBOR. B NT-TH 37t

QTR 208N (5%2=10)
1. a) RosmToR, TP

b) e300, T30 SRS 4 WRNTS) 9.

C) RoIRO = 12, WBXRS RoRO = 13 &ston aﬂocgsﬁd 2363 EQR.

d) 9,803 BRI WBD.

8) [N TJRF DOTTEID ?

f) Hedg80eeT 0RD POBEBTFS), WBS0.

g) SRg 380 & TARFINGT, B TRE WS BOmRROIYT BT ?

NYIN - W

35 39S ARRYTRTTR ot BIer euZon. BB T 6 wosrivd (3x6=18)

2. 35 BN TPELEC0T P TIRIF0D THeIpIHR) FoIRO, TriF 5305 10— 20,
20 - 30 22,0,

48 | 30 31;‘ 18 | 26 | 27 | 19 20 19 | 12

16 | 28 | 50 | 43 | 54 | 36 | 28 | 19 | 16 | 18
42 | 46 | 38 | 34 | 51| 42 | 28 | 32 | 36 | 41

34 | 36 | 37 18 19 12 15 41 46 | 25
19 | 24 | 35 | 38 | 39 | 42 | 51 44 | 13 | 18
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3. 31 89508 wR:800303 FURMTS FERO EAOR) B0 BT,

SaSi(Ea.): 50 -100 | 100 - 150 | 150 — 200 | 200 — 250 | 250 — 300

L Shrletel soa:'gs : 8 12 14 9 v
4. DOFE, BRDFDR) FoRABWD.

2RO(3219Q) 1 | 100 | 200 | 300 | 400 | 500 600

Feeo0 Ko : 8 | 12 | 20| 10 | 7 | 3

5. 833950@ 3 &S00 B0 @zsoﬁojoaigt m:;;soéd TUROT ORI OA0.

3RO (B. neg): FOEFT Ross,
%03 3R — 10 5]

8&03 IR — 20 13

808 363> — 30 20

19%03 3R - 40 32

808 383 — 50 60

808 388 — 60 80
80330 ~70 90
?t:*oé RS- 80 100

6. a) CV = 40%, QOFR, BT = 12, X ?
b) 300%0 233308 = 12, 30030 = 120, =53 30930 QBO[oH ,-n’amsasda’% 9
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83 INT CIRFTRTITR ST BINeR «ugdr. T3 BI1 14 wosnsd. (3x14=42)

7. BT TS TRIOI), TRE WROUTBY, TOTO8R TOTR FOTBIGROD.

[yl

Cl:l 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50 - 60

F: 12 14 20 16 11 9

8. 53 39NE MRO0T 0" STBF Rt 09 Bomo%AOWO. e et TRT g FRT
Hoedness 3RTieeRsBrord 3ROt

2015 2016
SRR 23e3 ZRIeed 233 ZRed
M 8 80 10 110
N 10 90 12 108
O 16 256 20 340
P 20 420 24 456
Q 25 550 32 704

9. 33PN T OBNP0T BDSF 2ODT RS S DRI R’%Tﬁ)t@ﬁdﬁgﬁod)&ao&)&

OB 8RO | 404 60|60 - 80|80 — 100|100 - 120{120 — 140 | 140 - 160

RWrEC AL | 6 10 | 18 30 15 12

10. 83 39N 308S0000T WROFFT DWOSODR 2B BT RBMRIEITHR, FOTBIZROWO.

X: |10-20{20-30{30-40|40-50({50-60|60-70|70-80

F: 12 25 55 120 60 30 13
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11, 2059, R0 202 BT RN 100 esosner adracé@és waeéojoé 83 F$NT03
| ST wd@d&é’acﬁ
Hoed, : 1121814567 |8]|9]10
Wi 48 | 72 (39 | 46 |80 |62 ] 30 | 42 65 | 31
TR osned [
WP 140 |56 | 44|35 |80 (72| 48 65 | 75 | 49

gainvelJovirlod) N3 ejoa-’mﬁda wcéc‘bdaaad TINR WOTD 36 c%zéé’ojomq Slantok
zmwm '&racia@mdd IR w&osz’x}w wcécm)aad 9
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